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1. . Who started Arya Samaj ?

(A) Swami Vivekananda
(B) Raja Ram Mohan Roy
(C) Gopal Krishna Gokhale

(D) Swami DayanandSaraswati

2. Aresearch problem is realistic only when it is
(A) Itis researchable

(B) It is new and adds something to knowledge
(C) It has utility and relevance

(D) All of these

3. Lunar eclipse occurs when :
(A) sun comes between the earth and the

moon
(B) moon comes between the sun and the earth
(C) earth comes between the sun and the moon
(D) the earth, moon and sun are equidistant

from each other

2. 3T GHTSIT=H TATIT 107 Shedl ?

(A) Tt faerepT g

(B) TSTRTH HigT T

(C) TTYTe3 ST T

(D) W 5T Tt

3. G THET Ir&aams! 39 Segl.....
(A) STt G I 3T

(B) A 3T o SUCTSLSITTE W =TT STt

(C) USRI STIOT TR

(D) STkt 9

3. SISTCT JB 0T SHell ATt 2

(A) g o 9% Aremed g At

(B) T & Jeait Freamred o5 It

(C) I a <5 gea 7l geait A

(D) JT, O% I I UhHh IR GH STeRTeR
Jar.




4. Right to Information Act came in to X¥. Hﬁ%?ﬁ?n WWWW

Existence STl 3T
(A) 2008 (A) Roo¢
(B) 2005 (B) R004
(C) 1989
(C) qRer

(D) None of the above

(D) SRIeTUeh! THa! el

5. Barometer is used to measure : Y. SRIHTHIAT HIIA ch(‘“lll(‘llcg\l A4 dld

(A) wind velocity (A) aT=ITETaT
(B) body temperature (B) TRRTE AT
(C) blood pressure (C) T
(D) atmospheric pressure (D) TR S
6. Full form of B.C.U.D. is : &. . 9. . F. < q07 5T 0Tt 2
(A) Bureau of College and University L. e~ e n .
Development (A) X1 37T HICTST 3HS FHoR G SHATHS
(B) Board of Councilors for University (B) SIS 31 Hif~FoTd B (o8 Fel SeTIie
Development L .

(C) SIS 31T FicisT 27 IR Tl SAFY

(C) Board of College and University Directors

~ ~ > o o n :
(D) Board of College and University (D) S AT Piets 373 el seetfic

Development




7. The process not needed in experimental
research is ......

(A) Observation
(B) Controlling
(C) Manipulation and replication

(D) Reference collection

8. look at this series : 36, 34, 30, 28, 24.... What
number should come next ?

(A) 20
(B) 22
(C) 23
(D) 26

9. Which famous Poetry was written by Dalit
litterateur NamdeoDhasal?

(A) Jhool
(B) Golpith
(C) Jevha Me JaatChorali

(D) Sud

\0. TTHITeR GMUATHE GTefieTdehl hioTdt

UTehaT ATI9Ieh 9.

(A) Fteror

(B) F=oT

(C) I 0T STIOT GRS 20t
(D) | HUE

¢. T ATThehS 8T : 38,3%,30,¢ XY, ... T&
HIUTCHT SHHTRT AUT ST[EIIFH e ?

(A) 20
(B) 22
(C) 23
(D) 26

Q. EfoTd Hifgfeaes AR 9Tl I Ui

el HIoTCT

(A) FiTet

(B) TTeTdte

(C) STeT |t ST =t
(D) qe



10. Where did the first Buddhist council take
place?

(A) Vaisali
(B) Rajgriha
(C) Pataliputram

(D) Ujjaini

11. Give the full form of SCSP?

(A) Social Component Sub Plan.

(B) Scheduled Caste Sub-Plan.

(C) Society Corporate Social Procedure.

(D) State Corporation Sub-Plan.

12. Dr. B.R Ambedkar was first elected to the
Constituent Assembly from...... ?

(A) Madras
(B) Bombay
(C) Bengal

(D) MHOW

R0, T SfeE URER TS IS BT ?
(A) FreTTe

(B) TSR

(C) Tt T

(D) It

%2. SCSP < quT ¥4 g

(A) Social Component Sub Plan.

(B) Scheduled Caste Sub-Plan.

(C) Society Corporate Social Procedure.

(D) State Corporation Sub-Plan.

23. . FEIERS 3eghi Ueediar Sieem

Y I FEG 3TTe! Bl
(A) TS

(B) Al

(C) A

(D) 5



13. Match the following :

LEAS IERIRGICII

Census Year Sex ratio in India T IS 2 Eﬁ_w
(Females per 1000
males ) HHTOT
(%TITEI%T Rooo
A. 1901 . 934 :
B. 1951 1. 972
A. 1901 1.934
C. 1981 [11. 946
B. 1951 1. 972
D. 2001 V. 933
C. 1981 111. 946
D. 2001 V. 933
A B C D 3 g ) 3
A 1 11 | v A 11 I v
B) IV | 11 I B IV I 11 Il
© nu | I IV © I I v
(). Il I IV D) 1 Il I v
14. The relation between the 3rd and 4the terms 2¥. meﬁw 341’%,?—!1%[ ..

is the same as in between the first two terms.
Select proper alternative in place of question

Tag=ar 3mfoT <o URTHe oTe. Tk

T foemon g vy fHerer.

mark.
4:80::5:7 4:80::5:7
(A) 120 (A) 120
(B) 160 (B) 160
(C) 150 (C) 150
(D) 140 (D) 140




15. Match the following pairs :

A
(Amendment)

A. 42" Amendment

B. 44" Amendment
C. 73" Amendment

D. 92" Amendment

A B
A 1 I
B) I 1
€ v
O IV

B
(Provision)

I. Inclusion of Bodo,
Maithili Language

Il. Panchayat Raj
I11.Fundamental Duties

IV. Right to Property
abolished

16. Match the following pairs :

A

(Constitutional features)

A. Rule of law

B
(Sources)

I. Russian Constitution

B. Directive Principles l. British Constitution

C. Concurrent List

111, Irish Constitution

D. Fundamental Duties V. Australian

A B
A | I
B®) I i
© m v
O v

Constitution

C D

Y. WA ST STl -

3
(TSI

5l

(TR

A. ¥R o FeAgEE

1. Srel, Bforer e
HETAIT

B. %% Al geAGE

I1. 9=mad st

C. \93 T FeAgEE

D. {R & FeAREw
A 9
A I I
B) 1 1
) IV
® IV

111. FoTd A

IV. HIeTH< &Rk

%&. WAt STgaT S[e3al :

a7
(FETcH AfPTe)

A. ST T
B. ANESTeh el
C. et gt

D. JoTYd e

A 1 I
B 1 1
© mwv

O IV

g
(FA)

o a
L YR AT ZAT

1. STl ToggeT
1. STTANET TsTeeT

V. Tt

ST ZAT



17. What is the meaning of the term Primary
Deficit of the budget?

a. Total income less total expenditure

b. Revenue less revenue expenditure

c. Fiscal deficit minus interest on debts

d. All of the above

Which of the statements given above is / are

correct ?

(A) Only a

(B) Onlyaandb
(C) Onlyd

(D) Onlyc

18. Who is known as ‘Paniwale Baba’ in India ?

(A)
(B)
(©)
(D)

Dr. Karan Singh
Dr. Rajendra Singh
Milkha Singh

Tomar Singh

2. STRTSTUARTAI FreifiTes e AT 31
WTATCAUh! SHIUTAT 3T 2

31. THUT 3T TS UHUT T

. TEgelt a0 o1 T et @d

%. Taiar g2 o=t etiaict s

3. ITUhl

SRICTehT 10T T TRISR 3718 2
A TR H

(B) e 3T MUT T

© T S

(D) IR

%¢. TRATHE “UIiETel ST&T O v
BT ST 2

(A) oo fE
(B) .
() THoar e
(D) AR fEE



19. Choose the correct alternative in place of
guestion mark

1 5 3
@ @ 0
5 1 2

(A) 164
(B) 150
(C) 250
(D) 162

20. Which is the following is not a secondary
data ?

(A) Information collected from CSO
Publications

(B) Data Collected from news papers

(C) Data Collected from students in the
college campus

(D) Data Collected from RBI Bulletins

8.

TeEE AT ST AVTRT I 91y ferer.

1 5 3
3 2 4 3 2 @ 2
5 1 2
(A) 164
(B) 150
(C) 250
(D) 162

R0, WTetet fEeied TRt 2 G SHIoTal

e ?

(A) CSO T RS FeredT (AT UiseTehy)

(B)
©)

Tie3T Shetelt Hfedt
AT TMeaT Shetelt Hifedt

o a o d a
Helldel[eldldlet [delledlen g ddeiedl

et

(D) RBI Bulletins TIieT TeaT shetodt

Hrfee



Rough Work




